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Bs = By(12, A1) B4(23, B3)sFy(—AB + 12 + 23, A1, B3; 12 + A1,23 + B3), (1)

where Al = —a41, and so on.
When s15 and s»3 is large, the amplitude shows a double Regge limit,

The single Regge limit is given when s;5 or so3 goes large, for example
when s93 is fixed, the amplitude is

Bs = B4(AB,A1)B,(23, B3)F(A1,23;23 + B3; %) (3)
AL = ¢ €upe D Dipy X Bs(1 — ag-, 1 — ay, 5 o 1— a, ; —ap), (4)
Az = d - €upoc" P+ D1y X Bs(1 — g, 1 — ag, 5 ~ap 1 — ay, ; — ay+),
Az = € €upoe Dici Phe-1y X Bs(1 — ag«, 1 — ap, g — ay, g — ay, % — apn-+).
Then the full amplitude describing the reaction is
A=A+ A+ Ay, ()
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Figure 1: a, a general diagram of P — KTK~P; b,c,d correspond differ-
ent high energy limits; e includes the particular intermediate states in each
diagram.
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Figure 2: Double regge limit fitting result
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Figure 3: Single regge limit fitting result

Mass(P P,) (GeV/c?)



